EX A6
a) ED/J\-‘- @—{—S"—Bg
20 i O U4 5

-5 3 O S
’_'(H\‘—l) + o0 —0O +
2
b) {(x\ _ = [ X))
(X-5\*
ED(I&\= -1 sd Ui 12)
260 . ek 3 A =
—2_ 3 S
—0 + 0 —| —







0\> 1/()(\ _ =\ (X-2\=

[X- Q) IX+3)
EDI - TR-{-3, qﬁ Ui v =3 ek y
eéms S —bX +3X—U = (XA XU 4L
= (3N x-2)" =
R
/ 7(23
\‘ —3 / ) u
nl — U + 0—06 — | +
0 i' (2)

QBPPIZA : ”(J(V\Q/\ Xq’ -S4+ 8x =Y

Z2Er0S Poss‘lb\esz + Q0 2 Yy
Y=A + A=8)1"+&/4-4 =0 \/




2) X

= (2’ xra) - 2(x2) (x+3)"
(X-4\%

(%=2\ (x+3) [(X'f%\ -2 (X-Z\:
(X-4)?

(%2> (33) (=2 + F)
(x-uY*

ED(&\-—- ﬂz_{ug i, 4 (2)
2er0

-—

2 -7 =+
2) (2)
X -3 2 4 3
nl ) + O + o0 4+ ” -0 —
B f (Y D )

AP oK B

~
—

NS (’5— zA)
. S
veng CONRY — g A3RR
A= (x2)
B = (wa)
4.t - —
f(,{ooo\; —7 — :



